finding multiples and factors

Start with 8 on the left edge, all the numbers along the row are multiples of 8.

x12 |34 5|6 7|89 |10]11]12

21416 | 81012 14|16 |18 |20 |22 |24

316 |9 121518 |21 |24 27|30 33| 36

4 1 8 |12 16|20 |24 |28 |32 |36 |40 | 44 | 48

5110|1520 | 25|30 | 35|40 |45 |50 | 55 | 60

6 |12 |18 |24 | 30 | 36 | 42 | 48 | 54 | 60 | 66 | 72

711421 |28 354249 |56 | 63|70 |77 | 84

16 |24 32|40 | 48|56 |64 | 72|80 |88/ 96

9 |18 |27 |36 |45 |54 |63 | 72|81 |90 |99 |108

10120 | 30 | 40 | 50 | 60 | 70 | 80 | 90 [100|110{120

11122 133 |44 | 55|66 | 77|88 |99 [110]121]132

12124 |36 | 48|60 | 72 | 84 | 96 | 108 120|132 | 144

Every number has 1 and itself as factors, so we know that two factors of 20 are 1 and 20.

From any 20 in the table, look up and across to the find two factors of 20 at the edges.

x12 |34 5|6 7|89 [10]11 |12

2
2 6 2T H—3618 @ 22 | 24

3 b 9 |12 | 5| 18 | 21 | 24 | 27 | 30 | 33 | 36

4 12—+ /20 24 | 28 | 32 | 36 | 40 | 44 | 48 1 20
519115 @ 25 |30 | 35|40 | 45 | 50 | 55 | 60

6 |12 |18 [ 24|30 |36 |42 | 48 | 54 | 60 | 66 | 72 2 10
T4 |21 |28 | 35|42 (149 |56 |63 | 70 | 77 | 84

8 |16 24|32 |40 |48 |56 |64 | 72|80 | 8 | 96 4 5

9 18|27 | 36|45 |54 |63 | 72|81 |90 |99 108

10«@ 30 | 40 | 50 | 60 | 70 | 80 | 90 | 100|110 120

11122 33 |44 55|66 | 77|88 99 [110]121|132

12124136 |48 |60 | 72 | 84 | 96 |108 120|132 | 144




